Power Amplifier

MO-430

SERVICE MANUAL

b SEYelok

SPECIFICATIONS

Power Output — Max. RMS 7.5W (x 4)
Power Output — 10% THD 5.5W (x 4)
S/N at 10% THD 70 dB

Frequency Response

35 Hz — 30 kHz

Stereo Separation 43 dBat 1W
Input Level 200mmV
Input Impedance 16K-ohm
Speaker Impedance 4-ohm

Max. Current Drain 4 ampere

Power Supply

WIRING LAYOUT

DC14V Negative ground

GRN
@; BLK
N (CONNECTION SIDE VEEW)
BLU 4P SOCKET
" W
BLK E L_IJJ
GRN
BLK
(CONNECTION SIDE VEEW)
3P SOCKET
i
7P PLUG ore fm
BLK
YEL
WHT
INPUT OUTPUT
Indication For Connection Sensitivity Impendance Type of Socket Connections
1. 500mV 1. 20K ohm 1. Front Left
2. -0-v 2. --- 2. Ground
Tuner/Tape Deck 3. 500mV 3. 20K ohm 3. Rear Left
7P DIN plug thru Interconnection 4. 500mV 4. 20K ohm 4. Front Right
cable/connector 5. 500mV 5. 20K ohm 5. Rear Right
6. -0-V [Faes 6. Neutral common
7. 14vDC 7. - 7. 14vDC
1. 2. OQutput for 1. 20w 1. Front Left
front speaker 2. 20w 2. Front Right
3. Power supply 3. 14vDC 3. 14vDC
4P socket 14V (lgnition switch)
4. Chassis of car 4. -0-V 4. Ground
1. Speaker ground 1.-0-v 1. Speaker ground
(common) (common)
3P socket 2.3, Output for 2. 20w 2. Rear Left
rear speakers 3. 20w 3. Rear Right
(Connection side view)




EXPLODED VIEW

0
MECHANICAL PARTS LIST

Ref. No. Description Part No.
1 Bottom cover (A) PLL-2872
2 Side cover (B) PL-2371
3. Heatsink fin MM-81
4. Power amplifier PC board ass’y AAP-29
5, Insulation bush MP-1450
6. 7P DIN plug ESP-65
7 Insulation fiber PN-542
8. Cord holder PL-2327
9. 4P socket wire set AH-341

105 3P socket wire set AH-340
11, Lug PP-35
A. SEMS screw M3 x 8 mm 093308
B. Bind head tapping screw (Black) ¢3 x 6 mm 0883062K
(s Pan head tapping screw ¢3 x 8 mm 0863082
B Bind head tapping screw ¢3 x 6 mm 0883062
E: Bind head screw ¢3 x 6 mm 091306
F. Pan head tapping screw $3 x 5 mm 0863052
G. Inner toothed washer 014345
4P Speaker Harness AH-352
3P Speaker Harness AH-351

TROUBLESHOOTING

SYMPTON DEFECTIVE CIRCUIT DEFECTIVE POINT AND CAUSE
*  Fuse open.
*  Faulty connection to the battery and the wire.
POWER SUPPLY CIRCUIT * Speaker wire grounded.
NO SOUND * Relay REL501 defective.

Missing or poor connection of pin No. 7 of 7P DIN cable.

POWER SUPPLY CIRCUIT

IC501 or IC551 defective.
Check each pin voltage of IC501 or IC551.
Missing or poor connection of pin No.7 or 7P DIN cable.

DISTORTED SOUND OR
INSUFFICIENT SOUND

POWER AMPLIFIER CIRCUIT

IC501 or IC551 defective.
Check each pin voltage of 1C501 or IC551.

OSCILLATION

POWER AMPLIFIER CIRCUIT

C501, C502, C551 or C552 capacity insufficient or open.
C513, C514, C563 or C564 capacity insufficient or open.
C511,C512, C561 or C562 capacity insufficient or open.

POWER SUPPLY CIRCUIT

C515 or C565 capacity insufficient or open.




COMPONENT LOCATION GUIDE

TOP VIEW

7P DIN PLUG

GRN

BLU

TAMINAL LUG

yBLK
3P SOCKET
REAR Rch

YEL

BRN

BLK
RED v45 Socket

x

$

WHT

OCKET 4P SOCKET

14

FRONT Lch

REAR Lch

l3P SOCKET
GND

BOTTOM VIEW

Power Amplifier Circuit Board Assembly Parts List

Ref. No. Description Part No.
Power amplifier printed circuit board (Empty) EP-576-2
Cbh01, 502, 551, 552 Ceramic capacitor 680pF 10V B ECE
Cbh03, 504, 553, 554, Electrolytic capacitor 4.7 uF 10V ECE

506, 507, 509, 510,

516, 556, 557, 559,

560, 566 Electrolytic capacitor 100 uF 10V ECE
C511, 512, 561, 562 Monolytic ceramic capacitor 0.1uF 25V SR ECE
C513, 514, 563, 564 Electrolytic capacitor 1000 uF 10V ECC
€bhil5, 565 Electrolytic capacitor 2200 uF 16V ECC
1C501, 551 Power amplifier IC HA1377 ETI-60
L501 Choke transformer ELS-93
R501, 504, 551, 554 Carbon film resistor 15K ohm 1/4W +5% ECR
R502, 503, 552, 553 Carbon film resistor 6.8K ohm 1/4W + 5% ECR
R505, 506, 555, 556 Carbon film resistor 330 ohm 1/4W + 5% ECGR
R507, 508, 557, 558 Carbon film resistor 2.2 ohm 1/4W +5% EER
REL501 Relay ESR-54




SCHEMATIC DIAGRAM

s |
C509
—
100
13 5V c513
R50I C503 12 FRONT
Lch
REAR
'/ e Connection Side
E m] +14v
\ J Il mJ
=
NE
R551 553 G FRONT
12 e 551-1 Rch
I5K a7 | Connection Side
: -

100

Printed in Japan



	MO430 (Power Amplifier)0001
	MO430 (Power Amplifier)0002
	MO430 (Power Amplifier)0003
	MO430 (Power Amplifier)0004

